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%LOLQGL÷L� JLEL� SD]DU� DUDúWÕUPDODUÕ�� �UHWLOHQ� PDO� \D� GD� KL]PHWOHULQ�KDQJL� |]HOOLNOHULQLQ� W�NHWLFL� WDOHSOHULQLQ� EHOLUOHQPHVLQGH� QH� |Oo�GH� HWNLOL�ROGX÷XQXQ� RUWD\D� NRQPDVÕQÕ� DPDoODPDNWDGÕU�� $oÕNWÕU� NL� �UHWLOHQ� �U�QOHULQ��PDO� YH\D� KL]PHW�� HQ� L\L� |]HOOLNOHUL� WDúÕPDVÕ� KHU� W�NHWLFL� LoLQ� DU]XODQDQ� ELU�GXUXPGXU��$QFDN�NDOLWHOL��U�Q�Q�SDKDOÕ�ROPDVÕ�YH�ELUoRN�W�NHWLFL�E�WoHVLQLQ�EXQD� X\JXQ� ROPDPDVÕ� W�NHWLP� LoLQ� NDUDU� YHUPH\L� J�oOHúWLUPHNWHGLU�� %X�QHGHQOH�NRQMRLQW�DQDOL]L���U�QOHU�\D�GD�KL]PHWOHU�LoLQ�JHOLúWLULOHQ�|]HOOLNOHULQ�QDVÕO�WHSNL�J|UG�÷�Q�Q�DQODúÕOPDVÕQGD�NXOODQÕODQ�oRN�GH÷LúNHQOL�ELU�WHNQLNWLU��+HUELU� |]HOOLN� WDUDIÕQGDQ� VD÷ODQDQ� \DUDUÕQ� D\UÕODQ� PLNWDUODUÕQÕQ�ELUOHúWLULOPHVL\OH�ELU��U�Q�KL]PHW�ILNLU��JHUoHN�\D�GD�KLSRWHWLN�¶LQ�GH÷HU�\D�GD�\DUDUÕQÕQ�P�úWHUL�GH÷HUOHQGLUPHVLQL�EDVLW�ELU�úHNLOGH�WHPHO�DOÕU���
.RQMRLQW� DQDOL]L�� KHUELU� |]HOOL÷LQ� VHoLOHQ� VHYL\HOHULQLQ�NRPELQDV\RQODUÕ� LOH� JHUoHN� \D� GD� KLSRWHWLN� �U�QOHU� \D� GD� KL]PHWL�WDQÕPOD\DELOPHGH�]RUXQOXGXU��%HOOL�ELU�|]HOOL÷LQ�WDQÕPODQPDVÕQGD�\D�GD��U�Q�YH\D� KL]PHWLQ� GL÷HU� NDUDNWHULVWLNOHULQLQ� WDQÕPODQPDVÕQGD� ³IDNW|U´� WHULPL�NXOODQÕOÕU��
3D]DU�DUDúWÕUPDODUÕQGD�DúD÷ÕGD�YHULOHQ�VRUXODU�VRQ�GHUHFH�|QHPOLGLU��
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���+DQJL�SD]DU�NDWPDODUÕ�HOGH�EXOXQDQ��U�Q�LoLQ�NDUOÕ�RODFDNWÕU"�%HOLUOHQHQ�ELU�SD]DU�NDWPDQÕ�LoLQ�KDQJL�WLS��U�Q�NDUOÕ�RODFDNWÕU"��
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.RQMRLQW� DQDOL]LQGH�� ED]Õ� QLWHOLNOHUL� �JHUoHN� DQODPGD�� |Oo�OHPH\HQ�DQFDN� G�]H\OHU� ELoLPLQGH� �QLWHOLNVHO� RODUDN�� LIDGH� HGLOHQ� oRN� |]HOOLNOL� PDO�YH\D� KL]PHWLQ� W�NHWLFL� WHUFLKOHULQL� EHOLUOHPHGHNL� HWNLQOL÷L� RUWD\D� oÕNDUWÕOGÕ÷Õ�LoLQ�JHQHOGH�LNL�DQD�DPDo�EXOXQPDNWDGÕU��
*HQHO� 7�NHWLP� 0RGHOL�� *|]|Q�QH� DOÕQDQ� |]HOOLN� YH� G�]H\OHULQLQ�ROXúWXUGX÷X�oHúLWOL�NRPELQDV\RQODUÕQ�WHUFLK�HGLOPH\H�NDWNÕVÕQÕQ�EHOLUOHQPHVL��
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���0DO� YH� KL]PHWLQ� |QHP� DU]� HGHQ� W�P� |]HOOLNOHULQLQ� EHOLUOHQPHVL��EX�|]HOOLNOHU�W�NHWLFLQLQ�DOJÕOD\DELOGL÷L�|]HOOLNOHU�ROPDOÕGÕU���
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���*HUHNOL�DQNHW�IRUPDWÕQÕQ�KD]ÕUODQPDVÕ��
���$QNHW�X\JXODQPDVÕ��
���+HU� DQNHW�GHQHN� LoLQ� �W�NHWLP� ELULPL�� KHU� |]HOOL÷LQ� W�P�G�]H\OHULQLQ�W�NHWLPH�HWNLVLQLQ��ID\GDVÕQÕQ��WDKPLQ�HGLOPHVL��
���%HQ]HU�|]HOOLN�WHUFLKOHULQGH�EXOXQDQ�W�NHWLFLOHULQ�JUXSODQDUDN�ED]Õ�RUWDN� WHUFLK� PRGHOOHULQLQ� YH�YH\D� W�P� W�NHWLFLOHU� LoLQ� JHQHO�W�NHWLP�PRGHOLQLQ�ROXúWXUXOPDVÕ��
���dDOÕúPDGD� HOH� DOÕQDQ� �U�Q�Q� UDNLS� PDO� �ILUPD�� DOWHUQDWLIOHUL�DUDVÕQGD� WHUFLK�SD\ODUÕQÕQ� W�P�SD]DU�YH\D�VHoLOPLú�SD]DU�NHVLWOHUL�LoLQ�VLP�OH�HGLOPHVL��
<XNDUÕGD� VÕUDODQDQ� DúDPDODUGDQ� LONLQGH�� NRQX� HGLOHQ� PDO� YH\D�KL]PHWOH� LOJLOL� WHUFLK� EHOLUOHPHGH� �W�NHWLP� NDUDUÕ�� HWNLVL� RODELOHFHN� W�P�|]HOOLNOHULQ�EHOLUOHQPHVL�JHUHNLU��%X�|]HOOLNOHU�EHOLUOHQLUNHQ�NRQX\D��UHWLFL�YH�W�NHWLFL�\|Q�QGHQ�\DNODúPDGD�\DUDU�YDUGÕU���
øNLQFL� DúDPD�E�\�N�|Oo�GH�ELULQFL� DúDPD\D�ED÷OÕ� ROXS�EX� DúDPDGD�EHOLUOHQHQ�|]HOOLNOHULQ�KHUELUL� LoLQ�DQODPOÕ�RODFDN�G�]H\OHULQ�GH�D\QÕ�PDQWÕN�oHUoHYHVLQGH�EHOLUOHQPHVL�JHUHNLU��
øON� LNL�DúDPDGD�EHOLUOHQPLú�|]HOOLNOHU�YH�G�]H\OHULQGHQ�VRQUD�DQNHW�IRUPXQXQ�KD]ÕUODQGÕ÷Õ� �o�QF��DúDPDGD� VRUXODUÕQ�DoÕN��QHW�YH�NÕVD�ROPDVÕQD�GLNNDW�HGLOHUHN�ELU�DQNHW�IRUPX�ROXúWXUXOXU��
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%HúLQFL� YH� L]OH\HQ� GL÷HU� LNL� DúDPD�� NXOODQÕODQ� ELOJLVD\DU� SDNHW�SURJUDPÕ� LOH� LOJLOL� ROXS�� DUDúWÕUPDFÕQÕQ�P�GDKDOHVL� V|]� NRQXVX� GH÷LOGLU�� %X�DúDPDODUÕQ� HQ� |QHPOL� NRQXVX�� HOGH� HGLOHQ� DQDOL]� VRQXoODUÕQÕQ� GR÷UX�\RUXPODQPDVÕGÕU�NL�EX�GD�E�\�N�|Oo�GH�DUDúWÕUPDFÕQÕQ�GHQH\LPLQH�YH�NRQX�KDNNÕQGD�ELOJL�VDKLEL�ROPDVÕQD�ED÷OÕGÕU���
7�P� LVWDWLVWLNVHO� \|QWHPOHUGH� ROGX÷X� JLEL� .RQMRLQW� DQDOL]LQGH� GH�GH÷LúNHQOHULQ� WHVSLWL� YH� DQNHW� IRUPXQXQ� KD]ÕUODQPDVÕ� VÕUDVÕQGD� L]OHQHFHN�\ROXQ� VHoLPLGLU�� %XQX� \DSDUNHQ� LNL� \RO� YDUGÕU�� %LULQFLVL� KHU� VHIHULQGH� LNL�|]HOOL÷LQ�J|]�|Q�QH�DOÕQGÕ÷Õ�7UDGH�RII�\|QWHPL��WZR�IDFWRU�DW�D�WLPH���LNLQFLVL�LVH� W�P� |]HOOLNOHULQ� ELUOLNWH� GH÷HUOHQGLULOGL÷L� WDP� NDYUDP� �IXOO� FRQFHSW��\|QWHPLGLU�� øON� \|QWHPLQ�� � EHQ]HU� WDEORODUÕ� ELUoRN� NH]� � FHYDSOD\ÕFÕQÕQ�
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2UWDJRQDO� G�]HQGH� DQNHW� X\JXODPDVÕ� oRN� VD\ÕGD� NLúL\H� \DSÕOGÕ\VD�FHYDSOD\DQODUÕQ�ED]Õ�|]HOOLNOHUH�J|UH��\Dú��FLQVL\HW��HNRQRPLN�GXUXP��H÷LWLP��Y�E�� VÕQÕIODQGÕUÕOPDVÕQGDQ� HOGH� HGLOHFHN� WDOHS� IRQNVL\RQODUÕ� SD]DU� NHVLWOHULQL�J|VWHUPHVL� \D� GD� W�NHWLFL� NHVLWOHULQLQ� EHNOHQWLOHULQL� YHUPHVL� DoÕVÕQGDQ�|QHPOLGLU��)D\GD�NDWVD\ÕODUÕQÕQ�HOGH�HGLOPHVLQGH�L]OHQHQ�SHN�oRN�\RO�YDUGÕU��%XQODUGDQ� HQ� \D\JÕQ� NXOODQÕODQÕ�� VÕUD� GH÷HUOHULQLQ� ED÷ÕPOÕ� GH÷LúNHQ��|]HOOLNOHULQ� �YH� G�]H\OHU�� LVH� \DSD\� GH÷LúNHQOHU� ELoLPLQGH� ROXúWXUXODUDN�DoÕNOD\ÕFÕ� GH÷LúNHQOHU� YDUVD\ÕOGÕ÷Õ� UHJUHV\RQ� WHNQL÷LGLU�� %X� \ROOD� HOGH�HGLOHFHN�ID\GD�NDWVD\ÕODUÕQGDQ�\DUDUODQÕODUDN�KHU�ELU�W�NHWLFL�LoLQ�\D�GD�JHQHO�W�NHWLP�IRQNVL\RQX�YH�EXQD�ED÷OÕ�RODUDN�\DUDU��� ID\GD�SXDQÕ�EXOXQDFDNWÕU�NL�EX�IRQNVL\RQ��
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(OGH� HGLOHQ� ID\GD� NDWVD\ÕODUÕ� YH� EXQODUÕ� �������� |OoH÷LQGH� LIDGHVL�VRQXFX� EDVLW� ID\GD� NDWVD\ÕODUÕ� HOGH� HGLOLU�� $\UÕFD� 021$129$� �0RQR�$QDO\VLV� 2I� 9DULDQFH�� \DNODúÕPÕ� LOH� EHQ]HU� úHNLOGH� HOGH� HGLOHQ� ID\GD�NDWVD\ÕODUÕ� GD� EXOXQXU�� )DNW|UOHULQ� WDOHS� EHOLUOHPHGHNL� \�]GH� NDWVD\ÕODUÕ� YH�G�]H\OHUH�J|UH�NDWVD\ÕODUÕQ�JUDILNOHQPHVL�LOH�SD]DUÕQ�J|U�QW�V��RUWD\D�oÕNDU��'DKD� VRQUD� IDNW|UOHU� DUDVÕ� NRUHODV\RQ� YH� EHQ]HUL� LVWDWLVWLNVHO� \|QWHPOHU� LOH�NXUXODQ� PRGHO� LOH� J|]OHQHQ� VRQXo� DUDVÕQGDNL� X\JXQOXN� DUDúWÕUÕOÕU� YH�VLP�ODV\RQ�GH÷HUOHUL�EXOXQXU��
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%XUD\D� NDGDU� SD]DUODPD� DUDúWÕUPDODUÕQGD� ROGXNoD� VÕN� NXOODQÕODQ�.RQMRLQW� $QDOL]LQGH� L]OHQHQ� DúDPDODU� HOH� DOÕQDUDN� LQFHOHQPLú�� EX� E|O�PGH�LVH�.RQMRLQW�$QDOL]L�NXOODQÕODUDN�(VNLúHKLU�±�$QNDUD�DUDVÕQGD�\ROFXOXN�\DSDQ�NLúLOHULQ�RWRE�V�ILUPDVÕ�WHUFLKOHUL�EHOLUOHQPH\H�oDOÕúÕOPÕúWÕU���
*�Q�P�]GH� LúOHWPHOHU� �UHWWLNOHUL� �U�Q� YH� KL]PHWOHULQ� EXOXQGXNODUÕ�SD]DUGDNL� SD\ODUÕQÕ� \�NVHOWPHN� LVWHUOHU�� %X� DPDoOD� �UHWLFLOHU�� W�NHWLFLOHULQ�WHUFLKOHULQL� HWNLOH\HUHN� NHQGL� �U�Q� YH� KL]PHWOHULQGHQ� ID\GDODQPDODUÕQÕ�VD÷ODPDN� YH� VRQXoWD� NDUODUÕQÕ� DUWÕUPDN� LoLQ� SD]DUODPD� YH� SD]DUODPD�DUDúWÕUPDVÕ�NDSVDPÕQGD�\HU�DODQ�ELU�GL]L�IDDOL\HWWH�EXOXQXUODU��3D]DUODPD��PDO�YH�KL]PHWOHULQ��UHWLFLGHQ�W�NHWLFL\H�\D�GD�NXOODQÕFÕ\D�GR÷UX�DNÕúÕQÕ�\|QHOWHQ�LúOHWPH� IDDOL\HWOHULQLQ�\HULQH�JHWLULOPHVLGLU�� 3D]DUODPD���U�Q�Q��UHWLPLQGHQ�oRN�|QFH�W�NHWLFL�DQDOL]L�LOH�EDúODU���U�Q�YH�KL]PHW�VDWÕOGÕNWDQ�VRQUD�GD�GHYDP�HGHU�� %LU�LúOHWPHQLQ�SD]DUODPD�IDDOL\HWOHUL�LOH�LOJLOL�ELU�SUREOHPLQ�VLVWHPDWLN�ELU� ELoLPGH� LQFHOHQPHVL�RODUDN� WDQÕPODQDQ�SD]DUODPD�DUDúWÕUPDVÕ�$PHULNDQ�3D]DUODPD� %LUOL÷L¶QLQ� \DSWÕ÷Õ� YH� VWDQGDUW� RODUDN� NDEXO� HGLOHQ� WDQÕPD� J|UH�³PDO�YH�KL]PHWOHULQ�SD]DUODQPDVÕQD�LOLúNLQ�SUREOHPOHUH�DLW�YHULOHULQ�VLVWHPOL�úHNLOGH�WRSODQPDVÕ��ND\GHGLOPHVL�YH�LUGHOHQPHVLGLU´���
%X� ED÷ODPGD�� \DSWÕ÷ÕPÕ]� oDOÕúPDGD� NLúLOHULQ� KL]PHW� �UHWLFLVL�GXUXPXQGD� RODQ� XODúÕP� VHNW|U�QGH� KDQJL� |]HOOLNOHUH� QH� RUDQGD� |QHP�YHUGLNOHULQLQ� EHOLUOHQLS�� RSWLPXP� XODúÕP� KL]PHWLQH� \|Q� YHUHELOHFHN�VRQXoODUÕQ� HOGH� HGLOHELOPHVL� DPDFÕ\OD�� (VNLúHKLU� �� $QNDUD� DUDVÕQGD� XODúÕP�\DSDQ�RWRE�V� ILUPDODUÕQD� LOLúNLQ�RODUDN�DúD÷ÕGDNL�HWNHQ�YH�G�]H\OHUL�GLNNDWH�DOÕQPÕúWÕU��
7DEOR����)DNW|U�'�]H\OHUL�

'H÷LúNHQOHU� '�]H\�QR�� 'H÷LúNHQ�'�]H\OHUL�
)LUPD�$GÕ��

� 1LO�IHU�7XUL]P�� ��������������������������$QND�7XUL]P�� ��������������������������&H\ODQ�7XUL]P�
9DUÕú�6�UHVL� � ����������������������������������������VDDW�� ����������������������������������������VDDW�� ����������������������������������������VDDW�

øNUDP� � ������������������������������������ø\L�� ������������������������������������2UWD�� ������������������������������������.|W��
&HS�7HOHIRQX� � ������������������������������������$oÕN�� ������������������������������������.DSDOÕ�
ùHKLU�øoL�6HUYLV� � ������������������������������������9DU�� ������������������������������������<RN�

��� ø��0XFXN�� 3D]DUODPD� øONHOHUL�� 7�UNPHQ�.LWDEHYL�� ������ ���� V�� �� ø�� &HPDOFÕODU�� 3D]DUODPD��
.DYUDPODU�� NDUDUODU�%HWD� %DVÕP� <D\ÕP� 'D÷ÕWÕP� $ù�� ����� ���V�� &�� <�NVHOHQ�� 7HPHO�
3D]DUODPD�%LOKJLOHUL��øONHOHU��NDYUDPODU��|UQHN�ROD\ODU��$GÕP�<D\ÕQFÕOÕ�N�������������V��

���� 7�� 7RNRO�� � 3D]DUODPD� <|QHWLPL�� ��� %DVÕP�� 8OXGD÷� hQLYHUVLWHVL� %DVÕPHYL�� &H\ODQ�
0DWEDDFÕOÕN�� ������ ���� V�� �� � 7�7DUWDU� � YH� 0�0�hQHU�� � øúOHWPHFLOLN� øONHOHUL�� *D]L� %�UR�
<D\ÕQODUÕ�g]NDQ�0DWEDDFÕOÕN������������V��

� 7��$USDFÕ��'�<DúDU��(��%|JH���'�7XQFHU�YH�0�0��hQHU��3D]DUODPD�����%DVNÕ��*D]L�<D\ÕQODUÕ��
$UVX�2IVHW������������V��
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dDOÕúPDGD�WRSODP���HWNHQ�EXOXQPDNWD�YH�EXQODUGDQ���WDQHVL��oHU����WDQHVL� GH� �
úHU� G�]H\OLGLU�� <DQL� oRNOX� IDNW|U� GXUXPXQGD� �
�
�
�
� ����RODVÕ�NRPELQDV\RQ�V|]NRQXVXGXU��)DNDW�DUDúWÕUPD�VÕUDVÕQGD�����NDUW�VD÷OÕNOÕ�ELU� ELoLPGH� VÕUDODQDPD\DFD÷ÕQGDQ�� W�P� RODVÕ� GXUXPODUÕQ� RUWRJRQDO� ELU� DOW�N�PHVL� VHoLOHUHN� ��� NDUW� ROXúWXUXOPXúWXU�� 7DEOR� �¶GH� VÕUDODPDVÕ� LoLQ�FHYDSOD\ÕFÕ\D�YHULOHQ�NDUWODUGDQ�ELUL�|UQHN�RODUDN�YHULOPLúWLU���
7DEOR����%LU�.DUW�gUQH÷L�
)LUPD�����������$QND�6�UH�����������������6DDW�øNUDP�����������2UWD�&HSWHO����������$oÕN�6HUYLV�����������9DU�
7DEOR����6ÕUDODQDQ�.DUWODU��2UWRJRQDO�'�]HQ��

)LUPD� �����������������6�UH� øNUDP� &HSWHO� ����6HUYLV� ��������6WDWXV�������������&DUG������������������������������������������������������������������������������������������������������������������������������������������������
�����
$1.$� � ����� 257$� $&,.� ����9$5� �������'HVLJQ� ��
&(</$1����������� ����� ,<,� .$3$/,� ����<2.� �������'HVLJQ� ��
1,/8)(5�� ����� ,<,� $&,.� ����9$5� �������'HVLJQ� ��
1,/8)(5�� ����� 257$� $&,.� ����<2.� �������'HVLJQ� ��
1,/8)(5������������������������ 257$� .$3$/,� ����9$5� �������'HVLJQ� ��
$1.$� � ����� 257$� .$3$/,� ����9$5� �������'HVLJQ� ��
$1.$� � ����� .278� .$3$/,� ����<2.� �������'HVLJQ� ��
$1.$� � ����� .278� $&,.� ����9$5� �������'HVLJQ� ��
$1.$� � ����� ,<,� $&,.� ����9$5� �������'HVLJQ� ��
&(</$1��� ����� .278� $&,.� ����9$5� �������'HVLJQ� ���
1,/8)(5�� ����� ,<,� .$3$/,� ����9$5� �������'HVLJQ� ���
&(</$1��� ����� 257$� $&,.� ����<2.� �������'HVLJQ� ���
1,/8)(5������������������������ .278� $&,.� ����9$5� �������'HVLJQ� ���
$1.$� � ����� ,<,� $&,.� ����<2.� �������'HVLJQ� ���
1,/8)(5�� ����� .278� $&,.� ����<2.� �������'HVLJQ� ���
&(</$1� ����������������������� ,<,� $&,.� ����9$5� �������'HVLJQ� ���
&(</$1��� ����� 257$� $&,.� ����9$5� �������'HVLJQ� ���
&(</$1� ����������������������� .278� .$3$/,� ����9$5� �������'HVLJQ� ���
1,/8)(5�� ����� ,<,� $&,.� ����9$5� �������6LPXODWLRQ����� ���
$1.$� � ����� 257$� .$3$/,� ����<2.� �������6LPXODWLRQ��������������
&(</$1� ����������������������� 257$� .$3$/,� ����9$5� �������6LPXODWLRQ��������������

%XUDGD� YHULOHQ� G�]HQOHUGHQ� VÕUDODQDQ� NDUW� VD\ÕVÕ� LON� ��� WDQHVL�GH÷HUOHQGLUPHGH�NXOODQÕOPDNWD�ROXS�������QROX�NDUWODU�VLP�ODV\RQ�DPDFÕ\OD�
NXOODQÕOPDNWDGÕU�

8\JXODPDGD� 6366� SURJUDPÕ� NXOODQÕOPÕúWÕU�� .RQMRLQW� DQDOL]L�X\JXODQÕUNHQ�� HOH� DOÕQDQ� IDNW|U� G�]H\OHUL� LOH� WHUFLK� VÕUDODPDODUÕ� DUDVÕQGDNL�LOLúNLOHULQ�RUWD\D�NRQXOPDVÕ�JHUHNPHNWHGLU��7HUFLK�VÕUDODPDODUÕ\OD�DUDODUÕQGD�GR÷UXVDO� ELU� DUWÕú� EHNOHQHQ� IDNW|U� ³OLQHDU� PRUH´� �� GR÷UXVDO� ELU� D]DOPD�EHNOHQHQ� IDNW|U� ³OLQHDU� OHVV´� � YH� G�]H\OHUL� NDWHJRULN� RODQ� IDNW|UOHU� LVH�³GLVFUHWH´� RODUDN� WDQÕPODQPDNWDGÕU�� %LU� GH� LGHDO� YH� DQWLLGHDO� WDQÕPODPDODUÕ�\DSÕOPDNWDGÕU��%X�WDQÕPODPDODU�NDUHVHO�IRQNVL\RQ�PRGHOOHULGLU��øGHDO�PRGHO��LGHDO�ELU� IDNW|U�G�]H\LQH�VDKLSWLU�YH�EX� LGHDO� QRNWDGDQ�X]DNODúWÕNoD� WHUFLKWH�
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D]DOPDODU�ROPDNWD��DQWLLGHDO�PRGHOGH�LVH�LGHDO�QRNWDGDQ�X]DNODúWÕNoD�WHUFLKWH�DUWPDODU�ROPDNWD�YH�EX�QRNWD�IDNW|U�Q�HQ�N|W��G�]H\L�ROPDNWDGÕU�� .XUXODQ�PRGHOGH�� HOH� DOÕQDQ� IDNW|U� YH� WHUFLK� VÕUDODPDODUÕ� DUDVÕQGDNL� LOLúNL� DúD÷ÕGDNL�JLELGLU��
)ø50$�������������'LVFUHWH�6h5(���������������/LQHDU�/HVV�ø.5$0������������'LVFUHWH�&(37(/�����������'LVFUHWH�6(59ø6������������'LVFUHWH�

)DNW|UOHUL�EHNOHQHQ�LOLúNL�GR÷UXOWXVXQGD�WDQÕPODPDQÕQ�QHGHQL��DQDOL]�VRQUDVÕ�EHNOHQHQ�LOLúNLGHQ�IDUNOÕ�VÕUDODPD�\DSDQ�NLúLOHUL�YH�EX�NLúLOHULQ�KDQJL�IDNW|UOHUGH�IDUNOÕ�VÕUDODPDGD�EXOXQGXNODUÕQÕ�EHOLUOHPHNWLU��7DEOR��¶GH�YHULOHQ�� VLP�ODV\RQ�NDUWÕQÕQ�WDQÕPODGÕ÷Õ�KL]PHWOHUGHQ��KDQJLVLQLQ�DUDQDQ�|]HOOLNOHUH�GDKD� oRN� VDKLS� ROGX÷X� ��� NDUWWDQ� HOGH� HGLOHQ� ID\GD� VNRUODUÕ� DUDFÕOÕ÷Õ� LOH�EHOLUOHQPH\H�oDOÕúÕOPÕúWÕU��+HU�ELU�IDNW|U�G�]H\LQH�LOLúNLQ�ID\GD�VNRUODUÕ�ùHNLO��¶GH�YHULOPLúWLU��
� ùHNLO������6366�6RQXoODUÕ�
�
2UWDODPD�

���gQHP��������)D\GD���������)DNW|U�
¯«««««««««±������������������),50$��������),50$�
¬���������¬���������������������¬���������1,/8)(5�
®«««««««««°���������������������¬���������$1.$�
����������¬���������������������¬���������&(</$1�
����������¬�
�¯««««««««±�����������������,.5$0���������,.5$0�
�¬��������¬���������������������¬����������,<,�
�®««««««««°���������������������¬����������257$�
����������¬���������������������¬����������.278�
����������¬�
�����¯««««±�����������������&(37(/��������&(37(/�
�����¬����¬���������������������¬����������$&,.�
�����®««««°���������������������¬����������.$3$/,�
�����¯««««±�����������������6(59,6��������6(59,6�
�����¬����¬���������������������¬����������9$5�
�����®««««°���������������������¬����������<2.�
����������¬�
���¯««««««±�������������������685(����������685(�
���¬������¬���������������������¬����������������
���®««««««°���������������������¬����������������
����������¬���������������������¬����������������
����������¬�%� ���������

��� $��<DOQÕ]���YH��/��%LOHQ����.DVNR�6LJRUWDODUÕQGD�.RQMRLQW�$QDOL]L�LOH�7�NHWLFL�7HUFLKL��
�
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3HDUVRQ
V�5��� ��������������������������gQHP� ��������
.HQGDOO
V�WDX� ��������������������������gQHP� ��������
6LP�ODV\RQ�6RQXoODUÕ��
��.DUW������������������
��6NRU������������������

5HYHUVDO�6XPPDU\�
�
���VXEMHFWV�KDG����UHYHUVDOV�
�
5HYHUVDOV�E\�IDFWRU��
�
���685(���������
���6(59,6�������
���&(37(/�������
���,.5$0��������
���),50$��������
�
5HYHUVDO�LQGH[��
�
���3DJH���5HYHUVDOV������6XEMHFW�
�������������������������������
�������������������������������
�������������������������������
�������������������������������
�������������������������������
�������������������������������
�������������������������������
�������������������������������
�������������������������������
�������������������������������
�������������������������������
�������������������������������
�������������������������������
�������������������������������
�������������������������������
�������������������������������
�������������������������������
�������������������������������

�������������������������������
�
�
6LPXODWLRQ�6XPPDU\������VXEMHFWV�����VXEMHFWV�ZLWK�QRQ�QHJDWLYH�
VFRUHV��
�
���.DUW�����0D[�<DUDU��������%7/�����������/RJLW�
��������������������������������������������������
�������������������������������������������������
������������������������������������������������

���6218d�
.XUXODQ�PRGHOLQ�NLúLOHULQ�WHUFLKOHULQH�X\JXQOXN�RUDQÕ��3HDUVRQ¶XQ�5�LVWDWLVWL÷LQH� J|UH� ������ RODUDN� EXOXQPXúWXU�� %X� GD� NXUXODQ� PRGHO� LOH�J|]OHQHQ�VRQXoODU�DUDVÕQGD�|QHPOL�LOLúNL�ROGX÷XQX�J|VWHUPHNWHGLU���
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(OGH�HGLOHQ�VRPXoODUD�J|UH��XODúÕP�VHNW|U�QGH�ELULQFL�VÕUDGD�GLNNDW�HGLOHQ� |]HOOLN� RWRE�V� ILUPDVÕQÕQ� DGÕGÕU�� %X� IDNW|U�Q� W�P� IDNW|UOHU� LoLQGHNL�|QHP� G�]H\L� ������� RODUDN� HOGH� HGLOPLúWLU�� %X� VRQXoODUD� J|UH� �o� ILUPD�DUDVÕQGD�\DSÕODQ�VÕUDODPDGD�NLúLOHULQ�$QND�ILUPDVÕQÕ�GDKD�oRN�WHUFLK�HWWLNOHUL�YH� GROD\ÕVÕ\OD� GD� EX� G�]H\LQ� WRSODP� ID\GD\D� GDKD� E�\�N� RUDQGD� NDWNÕGD�EXOXQGX÷X� J|U�OP�úW�U�� %XQD� UD÷PHQ� GL÷HU� LNL� ILUPD� DUDVÕQGD� GD� NLúLOHULQ�WHUFLKOHUL�EDNÕPÕQGDQ�|QHPOL�GHUHFHGH�IDUNOÕOÕN�EXOXQPXúWXU��
8ODúÕP� VHNW|U�QGH� LNLQFL� GHUHFHGH� |QHPOL� HWNHQ� ILUPDODUÕQ�LNUDPÕGÕU�� %X� IDNW|U�Q� W�P� IDNW|UOHU� LoLQGHNL� |QHP� G�]H\L�������� � RODUDN�HOGH�HGLOPLúWLU��
ho�QF��GHUHFHGH�|QHPOL� HWNHQ� V�UH�ROPDNWDGÕU��%X� IDNW|U�Q�|QHP�G�]H\L� ������� µGLU�� 0RGHO� NXUXOXUNHQ� XODúÕP� VHNW|U�QGH� V�UH� IDNW|U�Q�Q�NÕVDOPDVÕQÕQ� � LVWHQHQ� |]HOOLN� ROGX÷X� KLSRWH]L� NXUXOPXú� DQFDN� � DQDOL]�VRQXFXQGD�WHUVL�ELU�GXUXP�HOGH�HGLOPLúWLU��6�UH�NÕVDOGÕNoD�EHNOHQHQ�\DUDU�GD�D]DOPÕúWÕU��
'|UG�QF�� YH� EHúLQFL� GHUHFHGH� |QHPOL� RODQ� IDNW|UOHU� LVH� VÕUDVÕ\OD�VHUYLV�KL]PHWLQLQ�ROXS�ROPDPDVÕ�YH�FHS�WHOHIRQODUÕQÕQ�XODúÕP�HVQDVÕQGD�DoÕN�ROXS�ROPDGÕ÷ÕGÕU��%X�IDNW|UOHULQ�|QHP�G�]H\OHUL��VÕUDVÕ\OD��������YH��������RODUDN�HOGH�HGLOPLúWLU���
$\UÕFD� EXUDGD� $\UÕFD� oDOÕúPDPÕ]GD� ELUH\OHULQ� W�P�QH� LOLúNLQ� D\UÕ�D\UÕ� DQDOL]� VRQXoODUÕ� GD� HOH� DOÕQPÕú� YH� KHU� ELUH\LQ� WHUFLK� VÕUDODPDVÕ� YH�\RUXPODUÕ�WHNHU�WHNHU�GH÷HUOHQGLUPH\H�NDWÕOPÕúWÕU��
2OXúWXUXODQ� VLP�ODV\RQ� NDUWODUÕQGDQ� LVH� NLúLOHULQ� HQ� ID]OD� �o�QF��NDUWÕ� WHUFLK� HWWLNOHUL� J|U�OP�úW�U�� %XQD� J|UH� ILUPD� DGÕ� 1LO�IHU�� YDUÕú� V�UHVL������VDDW�RODQ��LNUDPÕ�L\L�FHS�WHOHIRQX�DoÕN�YH�úHKLU�Lo�VHUYLVL�RODQ�RWRE�V�Q�HQ�ID]OD�WHUFLK�HGLOGL÷L�J|U�OP�úW�U��
$UDúWÕUPDQÕQ� EDúÕQGD�� IDNW|UOHULQ� GLVFUHWH� YH� OLQHDU� OHVV� WDQÕPODUÕ�\DSÕODUDN� PRGHO� NXUXOPXúWX�7�P� ELUH\OHULQ� WHUFLKOHULQL� \DQVÕWDQ� VRQXoODU�HOGH� HGLOGL÷LQGH�� NXUXODQ� PRGHOOH� IDUNOÕOÕN� J|VWHUHQ� ED]Õ� VRQXoODU� GD�J|U�OP�úW�U�����ELUH\GHQ����WDQHVL�EL]LP�NXUGX÷XPX]�PRGHOOHUGHNL���IDNW|UH�NDUúÕ�ILNLUGHGLU��2�IDNW|U�GH�V�UHGLU��
6LP�ODV\RQ� DPDFÕ\OD� NXOODQÕODQ� �� NDUWD� LOLúNLQ� PDNVLPXP� \DUDU��%7/� �%UDGOH\�7HUU\�/XFH�� YH� ORJLW� NDWVD\ÕODUÕ� 7REOR� �¶GH� \�]GH� FLQVLQGHQ�YHULOPLúWLU�� %X� VRQXoODUD� J|UH� XODúÕP� VHNW|U�QH� \HQL� JLUPHN� LVWH\HQ� ELU�NXUXOXúD� PDNVLPXP� \DUDU� NDWVD\ÕOÕ� �������� ��� NDUWWDNL� |]HOOLNOHUGHQ� ROXúDQ�ELU�ILUPD�NXUPDVÕ�|QHULOHELOLU���
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